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1. Why do welders wear special glass|p5, In n-type semiconductor, there is an extra

goggles or face masks ? (1)

cation
(1) To protect eyes from ultraviolet rays (2) hole
(2) To protect eyes from infrared rays (3) | v»\'electron -
(3)  To protect eyes from microwaves (4) anion

(4) To protect eyes from gamma rays _
6. A radioactive isotope having a half-life

. eriod of ived after
2. The process of conversion of unsaturated P of 3 days was recelv

. ; 12 . 3
liquid oils to solids by reducing double days. Tt was found that there were - g

of the isotope in the container. The initial

bonds is
amount of the isotope when packed was

(1) Hydrosalination o
(1) 36 )

(2) Hydration N 8 www.rightiobalert.com

(3) Hydrogen treatment (2)) 488 v

(47  Hydrogenation (3) 12¢ wﬂggs’ti_omajg‘ﬁgl‘ﬁ’ﬂ‘—gid"cgm
4) 24¢g “w ~FT

3. Washing soaps contain
(1) Potassium salts of fatty acids 7. A gene that masks another gene’s

/‘;2! Sodium =alts of fatty acids expression is called

(37 Calcium salts of fatty acids (1) Dominant

(4)  Potassium and calcium salts of fatty (2) Epistasis
acids (3) Recessive

i
(4) Assorted

4.  Which one of the following antibacterial |
s is moé an antibiotic ? ﬁ . . .
drugs 18 AR AnHiotic i 8.  The vector for sleeping sickness is

{1} Streptomycin ‘;
R (1) Housefly

12)  Bactrim DS ‘ o~ _
e ‘ (2)y Tse-tsefly

131 Peniallin
(3) Sand fly

(41 Gentamycin .
: (4) Fruit fly
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9. The respiration in scorpion is carried out | 3. Water blooms are made by

by (1) Bacteria  Www.rightjobalert.com
(1) Lungs .
& (2) Fungi
2) Gills (3) Lichen www.questionpapersdownload.com
3) Bookl : e ———
. (4) Algae
(4) Trachea
10. Down Syndrome occurs due to the 14. ____ does not fix atmospheric N,
translocation of (1) Nostoc
(1) Tn 13
somy (2) Rhizobium
(2) Trisomy 21 <
(3) Anabaena
(3) Trisomy 23
(4) Nitrosomonas
(4) Trisomy 18
11. _ = is an example for |15 The population density of India according
insectivorous plant. to 2011 census is per sq. km.
(1)1 Pitcher plant 1) 452
(2) Cuscuta
(2) 332
(3) Agaricus
(4) Lichen (3) 250

@ s,z (7

12. Excess of evaporation of water from the

aerial parts of the plant body is called 16. The largest desert of the world is

( 1) | Photosynthesis (1) Arabian
(.. " x . . -
2{ ) Transpiration (2) Kalahari

(3) Ascent of sap (3) Great Victoria

(4) None of the above {4; \; Sahara /
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17. State with longest coastline is 20. The largest silk producing State of Irdia
(1) Gujarat is |
(2) Kerala (1) Andhra Pradesh

(3) Karnataka
(2) Tamil Nadu

(4) Andhra Pradesh .
(3)) Karnataka

18. Match the following and select the code (4) Odisha
for the correct answer from the options
given below :
List 1 List II ,
(States) (Lakes) 21. ‘Zero hour’ is allowed to ask the questions
A. Jammu and 1. Ashtamudi to the parliamentarians soon after
Kashmir lake ,
B. Odisha II. Nallake 18 over:
C. Gujarat I1I. Chilka lake (1)) Question hour \
g
D. Kerala ‘ IV. Wular lake . .
(2) Discussion hour
Code (3) Special hour
e A B C D |
‘ (4) Any hour
1) I I v I11
@ 'v mon 1
3) HI v I
3) N : 22. is the organ of the
@ I 11 i v government which gives effect to the
public policy.
19. The famous Do-ab region of Karnataka is
between (1) Parliament
(13 | The Krishna and the Cauvery () Judiciary
'12)  The Tungabhadra and the Krishn2

(8) . Electorate
(3) The Tungabhadra and the Cauvery

(4) The Netravati and the Tadri @ Executive
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~

23. If a light flashes every 6 seconds, how | 56 A circulating library has an average of

. .3
many times will it flash in Zth of an 480 visitors on Sundays and 240 on other
hour ? days. The average number of visitors per
day, in a month of 30 days beginning with
1) 225 a Saturday, is
(2) 250 @ 280 y |
Www.rightjobalert.com
(3) 450 ert.com
(2) 272
(4) 480
(3) 270 WWw.questionpapersdownload.com
24. A man’s wage was reduced by 50% and (4) 266 — —

again the reduced wage was increased' by

50%. What is his loss ?
27. The Emblem of the Keladi Nayakas was

(1) Nothing
(1) The elephant

(2) 25%
(2) The lion
3) 40% ‘
4) 50% (3) Gandaberunda

(4) Varaha

25. Ram and Arjun can do a piece of work in
10 days, Arjun and Rahim can do it in
12 days and Ram and Rahim can do it in

28. Acharya Nemichandra (10%hc.) was

20 days. Then Ram alone can do that popularly known as
piece of work in @ Siddhanta Chakravarti
(1) 30 days -
‘ (2) Kavi Thilaka
: (2) 20 days
(3) Sakalakala Chakravarthi
E (3) 12 days
| (4) Jain Kula Thilaka
y (4) 10 days
|
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29.

30.

31.

32,

369

Who among the following was calleq 33. Who among the following social reformers

‘Karnataka Sangeetha Pitamaha’ ? is the first woman to be elected
(1) Kanakadasa Chairperson of the Bar Council of
Karnataka ?

(2) Purandaradasa
(3) Bhimsen Joshi (1)  Aruna Roy
(4) Gangubai Hangal
(2) Medha Patkar

Melukote is regarded as the centre of (3) Pramila Nesargi

(1) Advaita Philosophy
(4) Laxmi Agarwal

(2) Vishishtadvaita Philosophy

www.rightjobalert.com

www.questionpapersdownload.com

(3) Dvaita Philosophy
34. Which place of Karnataka is known as

(4) Shakti Philosophy
‘Birth-place of Coffee’ in India ?

The Kagodu Satyagraha was related to (1)  Chikkamangalore

(1) Land Reform Act (2) Bangalore
(2) Forest Act (3) Mysore
(3) Industry Act (4) Karwar

(4) Environment Act

Who among the following was Chairman 35. The percentage of forest area in the total

of the first land reform committee in land area of Karnataka is

Karnataka ? (1) 22:6%
(1)  Shri Ramakrishna Hegde )  256%
2 i H.K. Patil

(2) Shri H.K. Pati 3) 32:6%
(3)  Shri Dasappa
= (4) 266%
(4) Shri B.D. Jatti

(11-C)
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Which of the following countries is not g

founder member of ASEAN ?
(1) Thailand
(2) Malaysia
Indonesia

(3)

(4) Vietnam

S. Ramakrishnan won Sahitya Akademi

Award for 2018 for his novel
(1) Sancharam
(2) Nimittam

Sarovaram

(3)

(4) Vacaka Parvam

Which team tops the ICC ODI rankings ?
(1) India
(2) England
(3) New Zealand

(4) South Africa

Which of the following is the oldest

Tennis Grand Slam tournament ?

(1)  French Open

(2)  Australian Open
(3) Wimbledon

(4)  US Open

(15-C)

47.

48.

49.

50.

In which river basin is the level of ground

water utilisation the lowest ?
(1)
(2)
(3)

Ganga
Brahmaputra
Kaveri

(4) Krishna

Which of the following is the largest

container port in India ?
(1) Jawaharlal Nehru Port
(2) Kandla Port
(3) Marmagao Port

(4) Chennai Port

Partition of Bengal came into force on

(1) 16t October 1905

(2) 26t October 1905

3) 16th November 1905

(4) 26th November 1905

In November 2018, which cyclone moved

from Bay of Bengal to Arabian Sea ?

(1) Mekunu
(2) Gaja

(3) Sagar
(4) Luban
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Report of Prof. Madhava Gadgil related to | 55.
(1) protection of Western Ghats
(2) protection of North Inland Basin
(3) protection of Malnad
(4) protection of Coastal Areas
Panchasiddhantika which is considered
the Bible of Astronony was written by
(1) Varahamihira .
(2) Aryabhatta
(3) Sushrutha
(4) Dhanwantari

56.
Which one of the Satavahana rulers
composed the work Gatha Saptasati ?
(1) Simuka
(2) Satakarni I
(3) Hala
(4) Gautamiputra Satakarni

81.
The founder of the Chalukya Dynasty Was
(1) Raja Jayasimha
(2) Kirtivarman
(3) Tailapall
(4) Vijayalaya

(17-C)

events in

Arrange the following

chronological order :

(i)  Treaty of Madras
(ii) Subsidiary Alliance
(iii)

Treaty of Mangalore

(iv) Treaty of Srirangapatna

(1) (1), (i), Gv), (i)

(2) (), (Gv), (id), (i1)
(3) (@), (1), (i), (iv)

(4) (i), (i), GQv), (1)

Which of the following is not included in
the “World Cultural Heritage” tag ?

(1) Hgmpi /

(2) Chitradurga/
(3) Badami |,

(4) Pattadakal ~¢

Which one of the following was not

cultivated in Harappan civilization ?

(1) Mustard
(2) Barley

(3) Sugarcane
(4) Sesame
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Which work is considered as “The First
Encyclopaedia” of Sanskrit ?

(1) Mitakshara

(2) Jatakatilaka

(3) Govidya

(4) Manasollasa

Who led the Maratha forces in the
Third Battle of Panipat ?

(1) Vishwanath Rao
(2) Sadashiva Rao

(3) Madhava Rao

(4) Dattaji Rao Scindia

Who among the following was not a

member of the Cabinet Mission ?

(1) Sir Stafford Cripps
(2) A.V. Alexander

(3) Cyril Radcliffe

(4) Pethic-Lawrence

The Simla Agreement of 1972 was signed

between

(1) India and Pakistan
(2) India and China

(3) India and Nepal

(4) India and Sri Lanka

(19-c)

62.

63.

64.

65.

|

The Directive Principles were borrowed

from the Constitution of which of the

following countries ?

(1) USA www.rightjobalert.com

(2) England

(3) France www.questionpapersdownload
(4) Ireland

Which among the following Articles of the

Constitution abolishes untouchability ?

(1) Article 14
(2) Article 19
(8) Article 17
(4) Article 21(A)

First Chief Election Commissioner of

India was

(1) R.XK. Trivedi

(2) Sukumar Sen

(3) K.V.K.Sundaram
(4) T.N. Sheshan

Who gives recognition to Political Parties

in India ?

(1) Parliament

(2) Election Commission
(3) President of India

(4) Chief Justice of India
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What
members of the UN Security Council ?

is the number of permanent

(1 3
(2) 4
3 b5
4) 6

When was Anti-Defection Law passed ?

(1) 1975
(2) 1985
(3) 1987
(4) 1990
Who is the present Chief Election

Commissioner of India ?

(1) Om Prakash Rawat
(2) Sunil Arora

(3) T.N. Sheshan

(4) Nasim Zaidi

If the President of India wants to resign,
he has to hand over his resignation letter
to the

(1) Speaker
(2) Prime Minister of India
(3)  Vice President of India

(4)  Chief Justice of Supreme Court

(21-¢C)

70.

71.

72.

73.

g

To which of the following authorities does

“the Public Accounts Committee submit its

report in India ?

(1) Prime Minister
(2) Cabinet
(3) Parliament

(4) Comptroller and Auditor-General

The first city of India which made Solar
Panels mandatory for big houses and

apartments is

(1) Chennai

(2) Hyderabad

(3) Thiruvananthapuram
(4) Karimnagar

According to recent survey, the first

ranked cleanest city of India is

(1) Rajkot

(2) Indore

(3) Ambikanagar
(4) Kozhikode

Gahirmatha mass nesting place of Olive
Ridley turtles is in a beach in

(1) South Odisha

(2) Dakshina Kannada District
(3) North Andaman

(4) South Kerala
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71.

Which of the following mountain ranges

formed on the Tethys Sea ? 78.
(1) Himalayas

(2) Aravalis

(3, Hindu-Kush

(4) Nilgiris

The layer of atmosphere which reflects

the radio waves back to the Earth is
(1) Stratosphere
(2) Tropopause o,
(3) lonosphere
(4) Exosphere
The deepest lake in the world is
(1) Wular Lake
(2) Lake Superior
(3) Victoria lake |

|
(4) Baikal lake :
Consider the following events and choose
the correct sequence :

80.
Events :
A.  Gandhi-Irvin Pact
B. TFirst Round Table Conference
C. Dandi March
D. Communal Award
Sequence :
1) A-B-C-D
2) A-Cc-B-D
3 B-A-C-D
4) C-B-A-D
(23~-C)

A

Which of the following is not a west

flowing river of Karnataka ?

(1) Kali |
(2) Aghanashini

(3) Sharavathi

(4) Lakshmanatirtha

The mountain pass which forms at the
trijunction of India, China and Myanmar

is

www.rightjobalert.com

(1) Nathula
(2) Jelepla
www.guestionpapersdownload.com
(3) Bomdila
(4) Diphu

The chemicals mainly used in cloud
seeding are

(1) Carbon, Aluminium oxide, Iron
oxide

(2) Sodium chloride, Potassium
chloride, Silver iodine

(3) Sodium chloride, Calcium

carbonate, Potassium sulphate

(4) Iron oxide, Carbon, Magnesium
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gl. Indian Standard Time is determined on | 83. Match the Railway zone with its
the basis of Headquarter and select the correct
answer by using code given below :

(1) 0° longitude ' Railway zone Headquarter
Northern Railway 1. Mumbai
Central Railway  II. New Delhiv

A.
B.
C. Eastern Railway I. Chennai
D. Southern Railway/:V . Kolkata

2) 23% ° N latitude

(3) 8°N latitude

(4) 82%° E longitude ' Code:
A B C D
1) I v III II
82. Match the Industry with its State and J
) : (2 1II I v III
select the correct answer by using code
given below : @) 1 11 I v
4 Iv 1 II I X

Industry : State

84. Match the Reservoir with its River and
select the correct answer by using code
given below :

A. Tata Iron and Steel 1. Karnataka
Company

B. Indian Iron and II. Odisha

Steel Company Reservoir River

C. Vishveshvaraya IronIII. Jharkhand A. Gobind Sagar / I Krishna
and Steel Plant B. Pampa Sagar II. Tungabhadra
D. Hindustan Steel IV. West Bengal C. Basava Sagar ~ 1II. Kaveri
Company Limited D. Krishnaraja / IV. Sutlej
' Sagar
Code :
Code:
A B C D
A B C D
(D) 1 v I II pS /
1 IV II. I 111
@ 1 I I v Va
@ P4 (2 1II_ I. IV III -
N I I - 3 II II1 I IV ~~
4 v 1 II 111 |
CON /A S mo

369 (256-C)
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In an election, Ashok, Mahesh anq
Promod got altogether 150 votes. Ashok
and Promod together got 94 wvotes,
Mahesh together got
76 votes. How many votes did Promod

and Promod

get ?
(1)
(2)
(3)
(4)

56
20
74
76

The present ratio of the ages of A and B is
4 : 5. 18 years ago this ratio was 11 : 16.
Find the sum total of their present ages.

(1) 90 years
(2) 80 years
(3) 105 years
(4) 110 years

A is north of B and C is west of B. What is
the direction of A with respect to C? -

(1)
(2)
(3)
(4)

North-East
West

South
South-West

What is the area of a square Whose
perimeter is 64 metres ?

(1) 128 sq. metres

(2) 32 sq. metres
(3) 256 sq. metres
(4)  None of the above

(27—C)

e

.

o

89. 40% of which number is equal to 1200 ?

90.

91.

92,

(1)
(2)
3)
(4)

4000 www.rightjobalert.com
3800

4800 www.questionpapersdownload.com
3000

Uma is cleverer than Guruchandan,

Guruchandan is cleverer than Nanny,

and Nanny is cleverer than Bharathi.

Who is the cleverest ?

(1)
(2)
3)
(4)

Guruchandan
Bharathi
Uma

Nanny

The working of a jet airplane is based on
Newton’s

(1)
(2)
3)
(4)

First law of motion
Second law of motion
Third law of motion

Law of gravitation

Colour in thin soap film seen during day

time is due to

(1)
(2)
(3)

(4)

Reflection of light
Refraction of light
Diffraction of light

Interference of light
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Lt

g3. About 80% of the natural Greenhouse g7, An opaque sheet of paper looks red to our
effect is due to

eyes because it is

(1) Carbon dioxide (1) absorbing red light
(2) Methane (2) transmitting red light
(3) Water vapour (3) reflecting red light
(4)  Ozone (4) refracting red light

The velocity of sound in air is|98. When a person has short sight, the image

independent of change in in his eyes

(1) Temperature (1) falls in front of the retina
(2) Density (2) falls behind his retina

(3) - Pressure ’ (8) falls exactly on his retina

4 -
(4) Humidity (4) is not formed at all

Which one of the following physical | 99, The value of ‘g’, the acceleration due to

phenomenon is responsible for the gravity, on Earth

spherical shape of a rain drop ? (1) is maximum at the equator

(1) Viscosity (2) is maximum at the poles

(2) Friction (3) does not vary on the surface of the
(3) Buoyancy Earth

(4) Surface tension (4) increases as we rise above the

surface of the Earth

A lunar eclipse occurs when the

(1) Earth comes in between the Sun | 100. Depth of the ocean is measured by the

following instrument :

and the Moon
(2) Moon comes in between the Sun and (1) Speedometer
the Earth (2) Ammeter

(3) Sun comes in between the Earth

and the Moon

(3) Fluxmeter

4) F
(4) New moon day happens athometer

369 | (29-C)
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